
PARTS LIST FOR ITEM 57789

1/10 SCALE EXPERT BUILT
Parts code

0809 ©2009 TAMIYA

18085626  Body & Wing (Assembled)

10555117  Body & Wing (Transparent)

10335180  Chassis

10004291 *1 A Parts (A2-A6, 1 pc.)

10004468  B Parts (B1-B10)

10004293  C Parts (C1-C7)

50867  TA04 C Parts (Front Upright) (C1 & C2)

10005758  E Parts (E1-E10)

10005785  E Parts (Rear Upright) (E1 & E2)

10004907  G Parts (G1, G3, G4, 61T Spur Gear)

50612  TGX G Parts (Diff. Cover) (G3)

10114071  K Parts (K1 & K2)

10114072  L Parts (L1 & L2)

10114073  N Parts (N1 & N2)

51040  TGS P Parts (Servo Horn) (P2-P8)

50598  C.V.A. Mini Shock Unit II V Parts

  (Damper Collar) (V2, V5, V7, 2 pcs.)

50599  C.V.A. Mini Shock Unit II W Parts

  (Damper Cylinder) (W1-W3, 2 pcs.)

50950  C.V.A. Shock Unit II (Short/Long) X Parts

  (Damper Collar) (X2, X5, X7, 2 pcs.)

10225073 *1 Y Parts (Y1-Y3, 1 pc.)

10554010  Wheels (4 pcs.)

53854 *1 NDF-01 V-Tread Block Tires (75/47) (2 pcs.)

53403  TB-01 Aluminum Motor Mount (M1)

19805901  Propeller Shaft (M2)

13450170  Front Propeller Joint (M3)

13450171  Rear Propeller Joint (M4)

19804384 *1 Bevel Pinion Gear & Ring Gear

 Bevel Pinion Gear (M5) x1 Ring Gear (M6) x1

51008 *1 Bevel Gear Set (TT-01, TGS)

 Star Shaft (M7) x1 Large Bevel Gear (M8) x2

 Small Bevel Gear (M9) x3

50354  16T, 17T AV Pinion Gear Set (M10...etc.)

19804284 *1 Gear Box Joint (M11 x2)

19808128 *1 Drive Shaft (M12 x2)

19804283 *1 Wheel Axle (M13 x2)

12594035 *1 U-shaped Shaft (M14 x1)

50882  TA04 King Pin Set (M15 x4)

19805947  Front Coil Spring (M16 x2)

19805948  Rear Coil Spring (M17 x2)

13455323 *1 Front Damper Shaft (M18 x1)

12594036 *1 Rear Damper Shaft (M19 x1)

50600  C.V.A. Mini Shock Unit II Oil Seal (Green, M20 x6)

19805486  Oil Seal (Red, M21 x2)

53066  1280 Sealed Ball Bearing Set (M22 x3)

53065  1260 Sealed Ball Bearing Set (M23 x2)

53008  1150 Sealed Ball Bearing Set (M24 x4)

12500023 *1 3x60mm Threaded Shaft (M25 x1)

15310002 *3 3x50mm Threaded Shaft (M26 x1)

19805682  3x30mm Shaft (M27 x2)

50594  2x10mm Shaft (M28 x10)

19805573  3x18mm Step Tapping Screw (M29 x2)

50579  3x10mm Step Screw (M30 x5)

19805724  3x15mm Screw (M31 x2)

19808230  3x3mm Grub Screw (M32 x5)

Parts code

19804159  3x10mm Screw (M33 x10)

19805853  3x8mm Screw (M34 x5)

19805636  3x6mm Screw (M35 x2)

50577  3x10mm Tapping Screw (M36 x10)

50575  2.6x10mm Tapping Screw (M37 x5)

19805977  3x12mm Countersunk Head Screw (M38 x5)

50578  3x10mm Countersunk Tapping Screw (M39 x10)

50574  2x8mm Countersunk Tapping Screw (M40 x10)

19805635  5x23.5mm Ball Connector (M41 x2)

19804205  5mm Ball Connector (M42 x4)

19804206  5mm Ball Connector Nut (M43 x4)

50875  5mm Ball Connector (M44 x8)

12300010 *2 9mm Washer (M45 x1)

19808231  6mm Washer (M46 x5)

50586  3mm Washer (M47 x15)

19805557  4mm Flange Lock Nut (M48 x4)

50589  5mm E-ring (M49 x5)

50588  2mm E-ring (M50 x15)

19805240  3mm O-ring (Black, M51 x7)

50597  Damper O-ring (Red, M52 x10)

50197  Snap Pin Set (M53 x10, M54 x5)

19808228  3x6mm Flat Screw (5 pcs.)

19805897  3mm Flange Nut (10 pcs.)

19805702  6mm Snap Pin (10 pcs.)

50038  Tool Set (Box Wrench, Hex Wrench...etc.)

50171  Heat Resistant Double-Sided Tape

50595  Nylon Band w/Metal Hook (10 pcs.)

53439  Anti-Wear Grease

87004  Liquid Thread Lock

87099  Cera-Grease HG

17435098  Motor

17252144  Transmitter Antenna

19805520  Antenna Pipe (30cm) (300 pcs.)

19808229  Sticker (a & b)

11050826  Instructions

*1  Requires 2 sets for one car.

*2  Requires 4 sets for one car.

*3  Requires 5 sets for one car.

R/C SPARE PARTS & HOP-UP OPTIONS
Item No.

53132 R/C Fluorescent Color Antenna Pipe (4 pcs.)

53159 4mm Anodized Aluminum Flange Lock Nut (Blue)

53160 4mm Anodized Aluminum Flange Lock Nut (Red)

53161 4mm Anodized Aluminum Flange Lock Nut (Gold)

53162 4mm Anodized Aluminum Flange Lock Nut (Black)

53448 4mm Hard Lock-Nut & Spacer Set

53508 Metal Bearing Lubricating Oil

53569 Clamp Type Aluminum Wheel Hub (6mm Thick)

53646 Wheel Spacer (Blue)

53647 Wheel Spacer (Red)

53980 Dust Cover for Adjuster


